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[1~4] 14:30~18:30, [5~7] 14:40~-16:40
AEHS 8 XN £3 23f/cc) F2H(1/min)
1 EXE A A 0.000 10.2
2 SX|ZAM2 0.000 10.2
3 EXHA M3 0.000 10.0
4 Ex A M4 0.000 10.0
5 E & 0.001 10.0
6 Q| A Adu|f 7 0.001 10.1
7 =22 0.000 10.2
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[1~4] 13:30~17:30, [5~7] 13:40~15:40
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5% A [9~14] 16:00~-18:00
AlEHS £5 XH Z 1 f/cc) F2E(1/min)
9 H 7|22 XA 0.000 10.0
10 H 7|25 MX|H2 0.000 10.0
11 H7|S2BXIE3 0.000 10.0
12 B 7| 22 2K H 4 0.000 10.1
13 H 7| 222K =5 0.000 16,2
14 H7| 222X E6 0.001 10.0
=8 &1
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o [8~14] 09:00~11:00
ANBHE £ X|H =X ZA3H{/cc) FZ(l/min)
8 Gl 0.000 10.1
9 H 7| 22 2K & 0.000 10.1
10 HI| 22 8xH2 0.000 10.0
11 HZ| 22 2%[E3 0.000 10.0
12 H 7|22 28X &4 0.001 10.0
13 7| 222X H5 0.000 10.1
14 H 7|5 2X &6 0.001 10.0
=3 20
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(221)
5% 2 ?10—142] ?;33(??1(703%0 j51:3?217%?]_)13:40~15:40
ABHT £ XH 3 ZHf/cc) FZ(/min)
1 X Z A 1A 0.000 10.0
2 BXBAM2 0.000 10.0
3 EXZAH M3 0.000 10.1
4 EX|ZAM4 0.000 10.1
5 HOLA H 0.000 10.1
6 M Me| 0.000 10.1

7 =247 0.001 10.0
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AlB2HE =3 xH 53 Z1H(f/cc) T (I/min)
1 FA B A 0.000 10.1
2 FXZAH M2 0.000 10.1
3 BEX|ZH M3 0.000 10.0
4 FAZAM4 0.000 10.1
5 At Z Z=H 0.001 10.2
6 | M| gl 0.000 10.0
7 =2947| 0.001 10.0
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[9~14] 14:00~16:00
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B [1~4] 13:30~17:30, [5~7] 13:40~15:40
AMEHT £d X H =& Z1f/cc) F2H1/min)
1 x| EH M1 0.000 10.1
2 EXHA M2 0.000 101
3 FXEAM3 0.000 10.1
4 SX|HA M4 0.000 10.0
5 EoiE FH 0.000 10.0
6 S| M Mdu| ol 0.000 10.1
7 =27| 0.000 10.0
55 21
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s [9~14] 14:30~16:30
NEHS =5 X =3 H3Hf/cc) FE(I/min)
9 7|22 MR E 0.000 10.0
10 7| S22X|H2 0.000 10.1
11 HI|EE MR H3 0.000 10.0
12 H 7|22 2XEH4 0.000 10.1
13 7| S2 X ES5 0.000 10.2
14 H 7| 222X &6 0.001 10.1
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